M8x40 - 1x

@ SM8 - 1x

i &
X - 22X

e ! Do PP12- 4x (A, I) P12 - 2x

M12x19 - 4x (C) > _ ; ) e
M12x25 - 1x (V) A

DETAIL
M12x20 - 3x
Y
~—MT0 ORIGINAL
51Nm

M12x20 (10.9) - 2%
110 Nm!

AIC 325123

M12x70 - 2x

MERCEDES A /B / CLA / GLA / GLB / EQA
Kéd: M1505(A,I,CV) - 2. 7.2023




